(5 — = Hk=N13)

it ®HOX

Ph - 2 5 B (A TX)

o A

1 AmEEEtE 132.5 m
o R OB K E 203.9 m3
3 7> %@L 505.0m
I 7 — 7> ®E  605.8m
1 AOmEEEt  132.5m
o R OB K E 203.9m3
3 A —7 v E 505.0 m3
I 7 — 7> %%  605.8m
T 1447 .2 m3
— T 5 & TG S p
NElsy 2 = GRoL
W BT T o T3 T4 1121314 L1 2] 3 4 | o
EC.7(N0.26+8.01) 0.00 0.0 0.0 0.0 0.0 0.00 0.00 0.00 0.00 0.0 0.0 0.0 0.0
+14.0(+16.0) 7.99| 11.4| 21.0| 40.3| 49.4| 5.70] 10.50| 20.15] 24.70 45.5 83.9 161.0 197.4
No.27 4.001 10.71 13.0f 43.9] 51.6f 11.05| 17.00| 42.10] 50.50 44.2 68.0 168.4 202.0
E&?@E?E% 8.00 0.0 0.0 0.0 0.0 5.35] 6.50] 21.95] 25.80 42.8 52.0 175.6 206.4
7.2
9.7
/J\§+ 19.99 132.5 203.9 505.0 605.8




(5 — = Hk=N13)

A

P 2 5 RR(A T IX)
KR A
17 BAEBELEA<W) 0.0 m2
18 v tiEmism EgEt) 0.0 m2
19 o+ v i bk A (i) 377.2 mo2
20 AE A KM Wk A 0.0 m2
17 BEKLEUA<W) 0.0 m2
18 0 -bikm bkt -k 1) 0.0 m2
19 90+ i i d kA = (i) 377.2 m2
20 AE A KB R A 0.0 m2
. r e Wr i AW A .
N IJ_:l‘ £
W | R 7T 18719720 17] 18] 19120 17 | 18 | 19 ] 20 | “%
EC.7(No.26+8.01) 0.00 0.0 0.0 0.00] 0.00 0.0 0.0
+14.0(+16.0) 7.99 0.0 33.2 0.00| 16.60 0.0 132.6
No.27 4.00 0.01 29.7 0.00] 31.45 0.0 125.8
No.27+8.0 8.00 0.0 0.0 0.00| 14.85 0.0 118.8
7.2
9.7
/et 19.99 0.0 0.0 377.2 0.0




(5 — = Hk=N13)

it ®HOX

Ph - 2 5 B (A TX)

21 iR Z OO m2
P EACES 52.5 m2
23 = (& L) 0.0 m2
04 & B W E T 0.0 m2
201  ® = 0.0 m2
P EACES 52.5 m2
R EAUED 0.0 m2
04 B @ E T 0.0 m2
— T & TERR A )
W | RO To0 03 24 21 [ 22 1 23124 ] 21 | 22 | 23 | 24 | 4%
No.25+16.5 0.00 1.40 0.70
No.26 3.50 1.40 1.40 4.9
EC.7(N0.26+8.01) 8.01 2.8 2.10 16.8
+14.0(+16.0) 7.99 2.8 2.80 22.4
No.27 4.00 1.4 2.10 8.4
/J‘§+ 23.50 0.0 52.5 0.0 0.0




